L1legrand’

2U Rackmount Rail Slider

Rail Slider for 2U Components

Instruction Sheet

[-00888 Rev A



Important Safety Instructions

e Read these instructions. e Heed all warnings. e Clean only with dry cloth.
o  Keep these instructions. e Follow allinstructions. e  Only use attachments/accessories specified by the
manufacturer.

A WARNING: A warning alerts you to a situation that could result in serious personal injury or death.

A WARNING: Middle Atlantic Products, Inc. electrical systems conform to and should be properly
grounded in compliance with requirements of the current National Electrical Code or codes administered by
local authorities.

All electrical products may present a possible shock or fire hazard if improperly installed or used. Middle
Atlantic Products, Inc. electrical products may bear the mark of a Nationally Recognized Testing Laboratory
(NRTL) and should be installed in conformance with current local and/or the National Electrical Code.

A WARNING: Failure to read, understand and follow the following information can result in serious
personal injury, damage to the equipment or voiding of the warranty. It is the responsibility of the
Installer/User to ensure that this product is loaded according to specifications.

Instructions importantes sur la sécurité

e Lire cesinstructions. e Respecteztous les e Nettoyer uniquement avec un chiffon sec.
e Conservezces avertissements. e N'utilisez que des accessoires spécifiés par le
instructions. e Suivez toutes les instructions. fabricant.

A AVERTISSEMENT: Un avertissement vous avertit d'une situation pouvant entrainer des blessures
graves ou la mort.

A AVERTISSEMENT: Middle Atlantic Products, Inc. électrique systémes conformes a devraient étre
mis a la terre dans conformité avec les exigences de la National actuelle ou comme les codes électrique
administré par les autorités locales autorités.

Tous les produits électriques peuvent présenter un choc ou un incendie danger si elle est mal installé ou
utilisé. Middle Atlantic Products, Inc. produits électriques peuvent porter la marque d'un Nationally
Recognized Testing Laboratory (NRTL) et doit étre installé en conformité avec courant local et/ou le National
Electrical Code.

A AVERTISSEMENT: Refus de lire, comprendre et suivre la renseignements suivants peut traduire par
de graves blessures, des dommages a I'équipement ou invalider la garantie. Il est la responsabilité de
I'installateur / utilisateur de s'assurer que ce produit est chargé conformément aux spécifications.



Introduction

NOTE: Before installation, please inspect the contents. Be sure that nothing inside the package is damaged.
Please keep the original package in a safe place for future use.

Unpacking and Inspection

Unpack your products and inspect the contents. The contents should include the following supplied
components and hardware.

/ \‘% @ r.{_r_'_“h"-.
L ‘.1
O J tQ
(4x) Fixing Stud (12x) M6 Rack g,y M6 Cage Nut
A Screws
c D

Left and Right Rail Slider
B

Installing the Mounting Brackets

A CAUTION: Do not use the mounting brackets to lift the unit. Use the mounting brackets only for
securing the unit to the rack.

A ATTENTION: N'utilisez pas les supports de montage pour soulever I'appareil. Utilisez les supports de
montage uniquement pour fixer l'unité au rack.

Step 1
Use mounting brackets and screws (provided in UPS packaging) to assemble the ears onto the sides of your
UPS as shown.

"

Installing 2U Rail Sliders Using Cage Nuts and Screws

Step 1

Firmly insert fixing studs (A) on top set of holes on the rail sliders (B) as shown. Pull apart the ends of the rail
sliders (B) to meet the depth of the rack chassis and force fixing studs (A) into the corresponding holes on
the rack chassis columns. The rail sliders align with the inside of the rack chassis columns.

Sl cEAc oo o= ol

ReeMefeeMeelMe e e
A-1-0-0-1-E=R=1-R=E=T_ RN 1_E=)

cEcEcEcE oo oo ooy
=

Besowo




Step 2

Use (4x) M6 rack screws (C) through the lower set of holes on the rail sliders (B) and into the rack chassis
columns as shown.

I
C

/pouogo

cdedededede e e ™e™e

HeOeOeHeOeOdeOeOeO

oDaDoDoDoq

Step 3

Use (6x) cage nuts (D) in the proper location on the rack chassis columns based on your UPS height as
shown.

[m]=[=ju)u]=)=)

oo oo e oo oo

Step 4
Place your UPS (with the mounting brackets already assembled) onto the rail sliders (B) as shown.

of

O [ Mounting

Brackets

b
o

[m]
Nl

i

ogooog

BEO 000000
|
|

OeOedededede e ool

feOede™ede e e e
=== = =
[mfmpmic>) =]

ooE

Eelde
[m[m)m]

Step 5

Use (4x) rack screws (C) through the mounting brackets, front rack chassis columns, and into the cage nuts
(D) as shown.

e

oCloeee e e e e e




Installing 2U Rail Sliders Using Rack Screws

Step 1
Pull apart the ends of the rail sliders (B) so they align with the outside of the rack chassis columns.

Step 2

Use (8x) M6 rack screws (C) through the holes on the rail sliders (B) and into the rack chassis columns as
shown.

LS Y

/x» S

A%

Step 3
Place your UPS (with the mounting brackets already assembled) onto the rail sliders (B) as shown.




Step 4
Use (4x) rack screws (C) through the mounting brackets and into the front rack chassis columns as shown.

Testrearedy

Mounting
Brackets




	Important Safety Instructions
	Instructions importantes sur la sécurité
	Introduction
	Unpacking and Inspection
	Installing the Mounting Brackets
	Installing 2U Rail Sliders Using Cage Nuts and Screws
	Installing 2U Rail Sliders Using Rack Screws

